Blocked matrix-matrix multiplication

fori:=0,....m—1
for j:=0,....n—1
for p:=0,...,k—1

me,I’le,andkaZ

Yij = ipBp; +Yi,j} Yij i =a bj+Yij Yo.0 Yon—1 ap
|
end o O [Zn=1
end ’mel,() ’mel,nfl 573,;7]
fori:=0,...,m—1
for p:=0,....k—1 my=|_pm=[ Jandk=]_}
for j:=0,...,n—1 _ _
Yij =0 pBp+Yij ¢ G = Qiphh +Ci ¢ 0,0 0o k1 bf
d
en b
end —
end a Oby—1,0 | " | Om—14—1 bi_,
for j:=0,....n—1
fori:=0,...,m—1 mb:D’"b:D’and’%:[
for p:=0,....,k—1
Vioj = i pBp iy  Yii =4 b+ 0,0 Yon—1 ay
end
+= (o] [bar)
end 0 ‘ n—1
end Ym-1,0 Y11 al_,

for j:=0,...,n—1
for p:=0,...,k—1
fori:=0,....m—1
Yij = QipPp. JF“Yi,j} cj=PBp.jap+c;
end
end
end

Bo.n—1

| Br—1,n—1

for p:=0,....,k—1
fori:=0,....m—1
for j:=0,....n—1 ~
Yirj i= ipPp,j +Yi,j} &l =0 pby +f
end
end
end

Qo k—1

by

| Om—1 k—1

7T
by,

for p:=0,...,k—1
for j:=0,....n—1
fori:=0,....m—1
Yij = i pPp.j +Yi,j} cj=Bpjap+c;
end

end
end

BO,nfl

: Bk*l,nfl




